-~ 37.5" MAX. FRAME WIDTH ——

P R O DUCT S,

8811 West Market Street I
Colfax, N.C. 27235 A

Lyndon F. Schmidt, P.E.
TEXAS P.E. $104123

P.C. Box 230 Vvalrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

Glazed Fiberglass Door

"NON-IMPACT"

Lt 6 wy
INSWING / OUTSWING 3. L= z
22 3e 7=
<= O =2
cZ g = H X © =z
= L0 : £ |, S8
3 ) SO = |3s°
o oy = = ﬁ <3
oy T © = - o Y
o Z 2 IE
= x| SR
3 ol &1
8l g%
EVALUATED FOR USE IN THE STATE OF TEXAS & % o
The Glaozed Fiberglass Door system described herein compiies with the 2004
international Residential Code (IRC), Sections R301 & R613 and the 2006 >
intemational Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
{including Texas revisions) subject to the following condifions: ﬂ

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is ! -
required to be protected with an impact resistant covering that complies i
with Section R301.2.1.2 of the IRC and Section 160%.1.2 of the IBC, %

3. Allowable design pressure requirements must be equal to or less than the hsJ
design pressure rafing shown in the design pressure chart, sheet 1 of this o
drawing.

4, Conditions not covered by this drawing are subiect fo further engineering
analysis.

Lad
TABLE OF CONTENTS : ‘ %
SHEETE | DESCRIFTION LIP LITE INSERT INSWING
1 Typical elevations, design pressures & genercl notes g
2 Door panel detais {flush glozing) X LIP LITE INSERT OUTSWING +45.0 -50.0 ot 1,707 /14
3 Door panel details {lip lite insert glazing) SAE NTS
4 Horizontal cross sections X FLUSH GLAZED INSWING +45.0 -45.0 oWG. Y- ' JK
5 Vertical cross sections i Trs
. . BY:
6___|frame anchoring X  [FLUSHGLAZED| OUTSWING | +45.0 | -45.0 e
TX—4425

SHEEF ] ofF 6

RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4425-26.dwg, TX-4425

© 2014 R.W. BUILDING CONSULTANTS INC.



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4425-26.dwg, 2.7

—w! 0.97" |—-—

0.64" N 0.78"

e 1.75" —=

G1 INTERIOR

STILE CAP (PVC}

STLE CAP (PVC}
WOOD SHLE

REINFORCED WOOD
LOCK BLOCK
(20" HIGH)

35.75" MAX,

PANEL WIDTH

26.25" MAX
D.L.O. WIDTH

&>

sl

79.25" MAX. DOCR
PANEL HEIGHT
65.5" MAX
D.L.O. HEIGHT
<

PLASIPRO
Flush glozed
{Fiberglass}

EXTERIOR

Hy

WOOD STILE

/"1 \ HORIZONTAL CROSS SECTION

\2/

1/2* GLASS

BITE ———  5/8" NOMINAL GLASS THK.
INTERIOR

1/8" TEMPERED GLASS

I/

Se— AR SPACE

EXTERIOR

GLAZING DETAIL
Flush Glazing

* ‘_1¥1/8" TEMPERED GLASS

SILICCNE GLAZING
COMPOUND

TOP RAIL

FIBERGLASS SKIN
(0.075" MIN. THK.)

(PYC) ™™

/...

/4
//

\ |

"

INTERIOR

FOAM CORE
{POLYURETHANE }

BOTIOM RAIL

/i

/i
I/

(PVC) ™

/7
I/

fe—1.75" —=

/"2 "\ VERTICAL CROSS SECTION

\2/

_ u}
% ey
- . @
hel
£ w E8
£ b wQ
i 5. LB ZT
A gB gy
“:ﬂ. - N gk
c 'Efg £
! 2 82 ;z
'g ' N co
= =T o -
2 Sp% 0
231 l’ﬂLE
2=
>, gR® 86
o Od s pw
9 4
v 237 u
4 T e Of
] 8 .c 4
5 502 g
E fhed g&
S
2
[
PR E
3 éo
(1]
Q
o
ud]
4Ty
W=
s | %%
5 | md
a g =
= Qo =x
| P Q_%
EXTERIOR 2 o
< O,
"BCE
3 o
@ ik
& <
a a
>
m
1
z
C
ue
o
o
&0
e
<
)
]
=z
oate: 1/07/14
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4425

sHEET 2 oF B

@ 2014 R.W. BULDING CONSULTANTS TNL.,



g
n
0T 2.8" TOP RAIL o i
n " r {COMP.} % E g ﬁ%
0_4 ——— S 0_4 e o —— ﬁ‘z ] g Z;'-'i
INTERIOR DN - T “y gm0
—r T L f —— N LT T Al % w _ﬂr‘; il
- ) .o ) . . -
_;.4 B . . " . b . o . . — gg g 0;? gz
R S S o R BT EF 2:1B 82
e - T — s . ® ) 38% B
b P ] « . ! ; - . o = n > "'_) EE
{n i PR ETR N SRS S Al 1 x}) ‘ o g §§"3 ge
\ EXTERIOR \ LN 3 gzt ;E
- : 4 sDe S
CAP (PVC) N g 9,5 o
HINGE STILE (LVL} LATCH STIE {LVL) CAP PVC) T £ aecs zk
K . Vv. > vb? % g WE
. P R i
71"\ HORIZONTAL CROSS SECTION - F
\3/

%)
nZ
=N
53

3575 MAX. _ _ = |. %
PANEL WIDTH EEs
(Y = S| =
INTERIOR \ EXTERIOR N
21.0" MAX . T # D 9 S5
D.L.O. WIDTH = o S
#6 X 1-1/2" PH SMS 5 5| Sa
[} — e
3 2 |2
GLASS BITE 1/2" E &
INTERIOR [ &
A ———1/2' NOMINAL GLASS THK.
U |~ 1/8 TEMPERED GLASS .
#— AIR SPACE
o s FOAM CORE il
8 = = S -~ 1/8" TEMPERED GLASS (POLYURETHAm LA "
0y =<0 1 g T~ ps
= Y =T <z v R &
<% 5 3 STEEL SPACER A o
28 39 Csa g
R 8 EXTERIOR QSO SEALANT R &
O~ ', ‘; . T
N LOW TACK SEALANT FIBERGLASS SKIN el
(0.075" MIN. THK.}\ SRR -
GLAZING DETAIL S =
Lip Lite Insert Glazing et
R L
SRR 3
b BOTIOM RALL™™ | _ﬂ ﬂ_ S
[COMP.) e | s
pate: 1/07/14
PLASTPRO .
Insert glazed EC':;LE'BY N'T‘i‘
. WG, H
(fivergloss) /" 2"\ VERTICAL CROSS SECTION J
3 CHK. BY: LFS
DRAWING NO.:
TX—4425
SHEET 3 oF _6_

RM\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4425-26.dwg, 3.7

@ 2014 R.W. BUWLDING CONSULTANTS INGC.



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4425-26.dwg, 4.7

P

b
/
///
/
X =) DEADBOLT: KWIKSET SIGNATURE SERIES
oll® (980/985)
 LATCH: KWIKSET SIGNATURE SERIES
) (991)
///
/
b ¢ CORNER PADS (TYP.)
/ )

1/4" MAX. ) . .
0.15 0.15 174" MAX.
SHIM SPACE = C'SINK (2N /34N CISINK —am SHIM SPACE
EXT. SHEATHING vy NNV oy I& Y EXT, SHEATHING
2X FRAMING Er s #10X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW S
(G ae 042 S —\ 2X FRAMING
(G >= 0.42)
JAMB JAMB
b ENDURA WEATHERSTRIP ENDURA ?’gﬁgﬁfﬁg
[QEBD/PE 650)
EXTERIOR EXTERIOR
N -~
A / INTERIOR INTERIOR k -
48 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS #8 X 2-1/2" PFH WS
#8 X 3/4" PFH SMS 4" HINGE LATCH STRIKE PLATE

m HORIZTONTAL CROSS SECTION
w Inswing shown - Outswing also approved

ui
aeq
S 0
)
T T
£* o ZF
v [V %] Q'I-
LLﬂ. = hﬁu.
Lo
‘:é ’Q - E
[+ o"fg
v o -
3 5" oGC
1 = L0 nE
3 489 @
a>n ﬁg
2 -
- ng 8(_.')
& QNG gG
x 2 o
3 282 Su
[ —mo O
] = -
o =z Q¢ w
¢ Rof 2%
a 06
s & oE
PR B
(3]
3 ¢
&
o
%)
S
2
< =5
x L Z9
> =l S
2 g &,
L 2l o
ol =5
< &)
= o
O
2 o
o &
@ <
a o
>—
m
%2}
=
o
2]
>
i
8.4
N
<t
i
o
=

oate: 1/07/14

SCALE: N.T.S.

DWG. BY:

JK

CHK. BY: LFS

DRAWING NO.:

TX~4425

SHEET 4 oF &

© 201714 R.W. BUILDING CONSULTANTS IND.



CERTIFICATE OF REGISTRATION # F—11852

— 2X FRAMING R
~——r [ o
' : G>=0.42 o
y S EM a !
. Gy ¢B 3
EXT. SHEATHING : o / DRYWALL et E55 6
= . 5
N o 85 533 2
. £ TN X
i 32 Zge @2
, | #10X25 PR 355 f
, P < WOOD SCREW 8a. %
174" MAX. L gsd &
SHIMSPACE Il e 28, b
25 2df §
SHE 8

— L
Documents Prepared By:

DOOR PANEL ——\
\—— HEAD

ENDURA WEATHERSTRIP 2
(QEBD/PE 650) &
Lid
wy
EXTERIOR » INTERIOR g |4
s ld¢
1"\ VERTICAL CROSS SECTION “olg S
w Qutswing shown - inswing 9 5
also approved e =
O k0
> © W
S e
o <L
o o
T ¥/ 1/
INTERIOR 0k pANEL EXTERIOR EXTERIOR INTERIOR EXTERIOR INTERIOR >
ENDURA WEATHERSTRIP x
(QEBD/PE 650} DOOR PANEL DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR(SD\{BVEERF; _\ ENDURA Dootg ;r‘EECi; —\
{Z-SERIES FOSTS\;]V'NGI ENDURA THRESHOLD %\ ENDURA THRESHOLD 'I : 9
203425858 455 ) 5‘; NOW“) (Z-SERIES INSWING ADJUSTABLE] (Z-SERIES INSWING ARTICULATING) SN SN N &
q . . _ ZAM565FN {shown) ZAC4565FEN (shown) _ /?'U 2
{w/ decorative nosing) p - ‘, ZAI4565FEN [w/o decorative nosing) IAC4565FN (w/ decorative nosing} [f." ) o
Q} Er.,rh-; / ”" ':/’ v
Z S <
- V S}
#10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW #10 X 2.5' PFH WOOD SCREW e 1,07/14
. y 1/4" X 2-3/4" ELCO OR 1/4" X 2-3/4" ELCO OR st NTS
1/4" X 2-3/4' ELCO OR T.S.
TW CONCRETE SCREW TW CONCRETE SCREW TW CONCRETE SCREW e R
CHK. BY: LFS
("2 VERTICAL CROSS SECTION {3\ VERTICAL CROSS SECTION / &\ VERTICAL CROSS SECTION
w Outswing shown \y Inswing configuration !5/ Inswing configuration TX—4425

SHEET 5 oF &

RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4425-26.dwg, 5.7

© 20714 R.W. BUILOING CONSULTANTS INC.



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4425-26.dwg, 6.7

TOP OF

8.34" FROM
DOOR PANEL

SEE HINGE .
DETALT

L

[ ]
=3
]

L—— 37.59"
66.84"

A
[3%)
=3

SEE HINGE
DETAIL 2

HINGE JAMB

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE [MIN. 3000 PSl)
WOOD (G >=0.42)

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusfed to maintain the rmir.
edge distance fo mortar joints,

2. Concrete anchor locations noted as "MAX, ON CENTER" must be adjusted to
maintain the min, edge distance to mortar joinfs, additional concrete anchors
may be required fo ensure the "MAX. ON CENTER" dimension are not exceedead.

2X framing {by others)

R|  MIN. | MIN CLEA
'TW A3 L1
rapcoN® | 1/4 1-3/4
ELCO L1 (1] " 1]
ULTRACON®] 174 1-3/4 1 3

1= T !
#10 X 2.5" PFH o
WOOD SCREW = g =
{TYP. @ HEAD v E B o
AND JAMBS) — =8
&
o O
o) Lbe
o}
_ SEE DETAIL 3 (] { }
| \:(Jﬂ
] | Al =
uwy
3E
==
i J
— P
I\'\ a o L_1l_]
#10 X 2.5" PFH WOOD SCREW STRIKE JAMB
1/4" X 2-3/4" ELCO OR
FRAME ANCHORING TW CONCRETE SCREW
OX0O {TYP @ SILL)
— DEADBOLT STRIKE
#8 X 3/4" PFH WS PLATE
#8 X 2-1/2" PFH WS z
LATCH STRIKE
- PLATE
DETAIL 3
Lock strike plates
] [ 48X 2-1/2" PFH WS .
/ - #8X2-1/2" PFH WS
IJ - ®
e [l o
-® ||
#8X 1"PFHWS & [T ; ; L
é._.m = #8 X 3/4" PFH WS #8X 1 PFHWSé:._ oIk 48 X 3/4" PFH WS
. - 4" X 4" HINGE 'Y 4" HINGE
b\ Y \“

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.Q. Box 230 Vairico FL. 335385
813.659.9197

BUIEDING CONSULTANTS, INC.

Documents Prepored By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINELRS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
FRAME ANCHORING

PART OR_ASSEMBLY:

PRODUCT:

NO)| DATE

REVISIONS

oATE: 1/07/14

scalE: N.T.S.

Dws, BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-~4425

SHEEY 6 oF 6

© 2014 R.W. BUILOING CONSULTANTS NG,



